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100mH | 1125 1592 1974 | 2322 |2771  |3559 | 5033
68mH |1365 |1930 | 2394 |2815 |3360 |4316 | 6103
50mH |1592 | 2251 | 2792 |3283 |3918 |5033 |7118
39mH |1802 | 2549 | 3161 | 3717  |4436 | 5699 | 8059
25mH |2251 | 3183 |3948 |4643  |5541 | 7118 10070
10mH |3559 [503.3 |6243 |7341 |8761 | 1125 15920
47mH [5191 | 7341 |9106 |10710 |127480 | 16420 |23220
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ik 0.2 0.1 0.065 |0.047 |0.033 |0.02 0.01
fo(HZ) | wF pF HF HF uF HF HF
100mH | 2.53 3.57 4.43 5.21 6.22 7.99 11.3
68mH | 2.08 2.95 3.65 4.3 5.13 6.59 9.31
50mH | 1.79 2.53 3.13 3.68 4.4 5.65 7.99
39mH | 158 2.23 2.77 3.25 3.88 4.99 7.05
25mH | 1.26 1.79 2.21 2.6 3.11 3.99 5.65
10mH |08 1.13 1.4 1.65 1.97 253 3.57
47mH | 055 0.77 0.96 1.13 1.35 1.73 2.45
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